Tl
+
i

=/u
X

T =4 B

BT H A B R A L B L

i I %5 P

F 5 T Ve B BT 19-1

Y

BIGRERE S S0 44 9H  26HFT

ax At B 2

SRR MLBOE (B ML £ BB L OHGE)

bRCICHED AR AR i T — o Bk i T — X



20210591
矩形


BT H A P AR A L s 5 TEMRS RS P RR

e ah (LH%) A 49,073,200 Y

T il ¥ & 44,612,000 Ay

THE Bl S A 24 %R & 4,461,200 Ay




% MEFTPEREZRER M LRETSE No.
% b i3] = B i 28 &
[ERZARE Xy
| @51 1] K 15,440,311
| EXEE LHE 1] 3,406,510
0| MR T3 1 = 14,142,671
RN X 32,989,492
Hm gy
I meGeE 1] K 1,124,538
| BUGEEE 1 =K 4,866,002
—E B 1 = 5,632,614
Hi@E A 11,623,154
&t 44,612,646
TR TR EI0ET 44,612,000
THE RS Y%A 4,461,200
WA (LEE) 49,073,200




% MEFTPEREZRER M LRETSE No. 2
% b i3] 2 Bifg i 28 &

I |BEITS

1 |[EERGETE 1 K 708,543

2 |[BEMEIE 1 = 1,671,160

3 |NERE T 1 X 5,308,309

4 |BEKETHE 1 = 144,307

5 |azyb M OEDOMITEH 1 K 6,336,180

6 |SMETE 1 K 68,575

7 |E 1 3K 1,203,237
&t 15,440,311






